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REVIEW: Chapter 10 — Sequences & Series 4
1. Which term of the arithmetic sequence 3, 8, 13,18,23, ..., 113 is 113? 7 3-(—0\ l>(5
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2. Find the 27th term in the arithmetic sequence -8, 1, 10, ... i
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3. In an arithmetic sequence, what is d if a1 = 14 and a4 = 50.8?

s qﬂ z Cf(z,"?)"l_/
B) 2.1 0)26 D) 3.6 o

50.%< 14 -r{zﬂf-l)o( A=1G

(3]

4. Find S5 in the arithmetic series 0.2+ 0.3+ 0.8 + G=-.7 d4d
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5. An employee’s salary increases by the same amount each year. If he earned $77,900 for the seventh year and $97,500
for the fifteenth year, how much was his pay for the second year?
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6. Write ZS( =)' in expanded form and then find the sum.
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7. Express the series 0.7 + 0.007 + 0.00007 + ... using sigma notation. é e \i
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8. Given a, =—16 and a,, =-304 in an arithmetic sequence, find a, .
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9. Findthe sumof 3—1+———+....
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10. Find the 40th term of the arithmetic sequence7 _E’ ... G,
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11.If ay is 6 and a3 = 4;27, find the common difference d.
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12. Write the arithmetic series using summation notation and then find the sum of the first 30 terms of 10+ 6.8 + 3.6 + ...
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13. An employee agreed to a salary plan where his annual salary increases by the same amount each year. If he earned
$51,100 for the fifth year and $64,900 for the eleventh year, how much will he have earned in total after 25 years at
his Job‘?
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14. Find the sum of the first eight terms in the geometric series 64 32+ 16 -8..
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15. Write Z 8 1(—5) in expanded form. Then find the sun:
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16. Find n for 8+5+2+—1........ , where a, =—40.
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17. In a geometric series, £, =9 and ¢, =30.375, find S, . 1
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20. Determine if each of the following series converges or diverges.
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Answer Key
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20 a.diverges b. converges c. converges d. diverges
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